(7T 1HA) ¥ & = R
@ BRSO T¥E (bR Ry
1 \
@ T @ SRiEHh
104
©) HA (BRER, #HE) @ [ELR
f1H
® AR O I ® 30. 0
@ vE (G S) B — A
© 1200 KE
2 ~ AL AN - L. e i S
B @ #oE (FEEZ) [mm] @ BEOHRH [mm]
5m
1. 441 — 1. 432 =0. 009m
No.O ~ A 10/1.0 = 10mm
= 9mm
(1)
£28 0. 698 — 0. 681 =0. 017m
A ~ B 10/2.0=14mm
= 17mm
1. 249 — 1. 243 =0. 006m
B~ No. 1 10/1.0 = 10mm
= 6mm
(2) TR & b7
A ~ B DX ]
1. B X




(&7HKF D 28A) % fE = R
@ BRSO T¥E (bR Ry
3 . Ya-1 = Yot fi& 1 4 [m?]
A | X [m] Y [m] Yoo Yoot
2| 2|
6II\\
A 0. 000 0.000| +12.000 -2. 000 +14. 000 0. 000
B +12. 000 -2. 000 0. 000 +15. 000 —15. 000 —180. 000
C +9. 000§ +15. 000 -2. 000 +12. 000 —14. 000 —126. 000
D -4, 000 +12.000| +15.000 0. 000 +15. 000 —60. 000
fefsmfE [m?] 366. 000
i & [m?] 2,8 183. 000




(7. 40%X10°9)

(&7KFD3%A) R = B
@ ek L (B A
4 PO W BSOS | W —kET— A b Wi _IRE— A > b
Wrrm
[mm] X [mm] Ai[mm?] yilmm] | Qx[mm?] 2% I [mm?*] 24
81I\\
AiXy = PRLA xy =
12 1 i
60X20 1,200 50 60,000 3,040,000
A (1. 2X 109 (6.0X10% (3. 04X10°9)
AiXy = bl—h:—l—A.Xy.z—
(1)
&om 30X40 1,200 20 24,000 640,000
A, (1.2X10? (2.4X10%) (6. 40X105%)
.. 2,400 84,000 3,680,000
= (2. 4% 109 (8. 4X10% (3. 68%10°9)
2,400 X yo = 84,000
(2)
21I£\\
Yo = 35mm
Inx — IxiAyOZ
(3)
25 = 3,680,000 — 2,400 X 352 =740,000mm*




(E7HTDAKA) o fE = R
@ BRSO T¥E (bR Ry
5 KR7AHB
SH=0M»5 5—Hg =0
118 He = 5kN ()
1) K7IRB
SV=005 —4— (2X6) +R5=0
B£1R Rg= 16kN
K7IMB
SMp=015 —4X8— (2X6) X3—Mp =0
Mg = —68kN-m (HEtEbv)
HAMHS a~c HAASE
(2)
%15 Sa~c = —4kN Sg=—4— (2><6) =—16 kN
HFE—A> FMa BFfE—A > FMc
(3)
&1 Ma = OkN+m Mc = —4X2 =—8kN+m
EABNE 4[kN] 2[kN,/m]
5| >@ A 4 y A
[kN] A .
2 [m] 6 [m]
0
M
m |||||7||||
—4| —4
[kN]| [kN]
~16
[kN]
(4)
£28 VY S
HIFfE—2A> MY ATEN] 9 [k N/m]
5 >@ \ A \ 4 y \ A .
[k N]J A C B
2 [m] 6 [m]
< — > — 6 8[kN+m]
—8|[kN " m] .||||HH
ik
0 .|||I||||””””l““““nrmll
[kN*m]




(B7THKFDO58H) % fE = R
@ EEEs T2 (BR) Ay
6
6m (1) W=2500X10. 0X (10X10X10—700. 0)
25 = 7,500,000 = 7. 5X10°%N
(2) B=1000X10. O0X (10X10x4d)
2/ = 1,000,000d = 1. 0dX10°N
(3) 1. 0dX10° = 7. 5X10°
25 d =7. 5m
7 e ‘
® FEE TR @ =hn
4-II\
Meryas .\
&1, ©) ey @ Bk
8 (1) » )
V9l (it
1II£\\
5[!\\ (2)
515 i Ay e ST RISy SDWGHT (5B0W3T)
3
(3) 4
1II£\\
(4) D6O 0. 80
Ue = = = 26. 66 = 27
1= D, 0. 03




(7Koo 6K HA) R = X

@ W\EER T¥E (LR A

9
® IA ¥R @) RAV T
45
&1 ® RAE T @ N (e—er2)
10 .
g LT bBBICRENDEICL Y Ik L2y H = — =5m=500cm
2 2
gom | (1) f o= Jvx (T 0.200x5000 o0 g
Cv 34. 3
CvXx t 34. 3x 365 .
(2) Tv = el > = 0. 050
(H) 500
(3) LY U=20%
(4) | Si=Sx—=-50x-=2-10. 000cm
100 100
11
® x @ T ®
5m
215 | @ = ® h




(E7HTD 7HKA) ® R = R
@ BRSO T¥E (bR Ry
12
@ kA @ KRR (KFRZL)
455
&1 ©) =T 14— @ ANV e
13 ‘ \ .
X] 1 IN—Fx— | X2 T hU— 7 X TFREE
(1)
455
e 3 Hike i S 3l
(2) | B 1EEB%
14 .
D 10405 @ PPN 1]
208 (1)
£2m| @ SRERE) @ Xy hT—2
124
® A ® BRbER 4
(2) @ 2 @ + ©) =S @
£18
=1
821 @ = ® + @ =




